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Class 1 | 1.1.08 | Powers with rational exponents  
 

Task 1.  Calculate:  

(a) 3240.5 =      (b) 0.06250.25 =    
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Task 2.  Calculate.  
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3 ×
1
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20

÷ 1000.5 = 

 

Task 3.  Convert each of the following expressions to a power with integer base and rational 

exponent: 

(a) √125√25√5 =     (b) √8√4 × √2
3

= 

 (c)√√√7
453

= 7
1

60      (d) √73 × √√7
3

= 

 (e)  3√3 × √3
3

× √3
4

= 32
1

12     (f) √2115
÷ 23 × √2 = 

 

Task 4. Compare the two given numbers without using a calculator. 

(a) √5 + √10  and √8     (b) √√10
3

 and  0.1−0.5 ÷ 10
1

3 


